AN TSR RAEIR19724E (1972453 H 347) 7> & Pk

197148 H30H ~9H 1A : BEE23 5312 L 2 K[E

2. AR 235 (8H30B~9A81H)
(1) KRR
8 A 2 3AF/OESE LICHAEL2ERE 2351, 882 902 THILAEICHEA T
2, 2 9BREIOME FIICEL , I HLICHTAD ST ICED, BEREBROAEELEK E
B, BrmE SWEMN -LHEEE -FEE -RBEEE LR T, BRPEsLEER, A
ZLEDOT, ZEMICED LAY, 30BKELORMAMIE LD 3 1BRERAFE bR %
Dk, (FE2MER)

BEE 23 9
1512ﬁ 0 RE, &ﬁ& * . /79

\\ e
IHOIﬁ 0 7358, - Kﬁ ~

318 TR s - v mamen
315}@&532%% £‘& itk

3514#'&’0%@ Lo ﬁﬁ}iw‘aﬁ
3151;%30ﬁj:m éﬁﬁ?i_ﬁﬁ;}éﬁ * A 5

\ 30522%0%@@? - R - ﬁ@&a}é&\ _//I

8 31
’ X ‘,' 730
237
\
\\

87 &3
226 8/25 8/?/1

A/B (BT 9B ONLE )




(2) [ZREEF

B2 - o ® % 1L
30~31BFE 21 1™ 317™
BRABMEE | \NEa7am/ 008375 |NE 318m/ 2281 13
8 x R & 15

NNE17.0m/ 0 083

1
NNW13.4m/ 0883355

B 1K 34.7™ 12653 03— | 428m 12853 04—
i 8.8™ 118368 -] 123m 12851 04—
BRI KBIRIER
H %| B x| &l | % B el
A A w =
o 30| 31 [30(31 | g 30| 31| 30| 31
9~10 204 | — 267 21~22| — |11l — | 113 | 3 0E4&78EE
10~11 135 — (2011 22~23| 04| 73 08 62 |25b1583T
11~12 307 | — (383 23~24| 02| 38 03 50|o 78K, 8
12~13 147 | — {341 24~1 08| 1.9 07| 19 |xT119™p
13~14 11.7 | — |21.0 1~2 23| 03] 20| 08 |k D O%,
14~15|— |156 | — [21.8 2~3 6.0/ 02| 57| 07
15~16 (00| 73 |- 117 3~4 43| 0.9 6.0 20
16~17 (00| 11 |— | 25 4~5 22| 03| 75| 12
17~18[00| 19— |23 5~6 3.8| 04| 6.0| 18
18~19|— | 40 |— | 6.0 6~7 |12.0] 07| 122 08
19~20|— |133 |— |209 7~8 59| 02| 135 —
20~21|— | 54 |- |121 8~9 |121]| — |131| —
& &t |50.0|1667| 67.8|2492

BMYCHTAE23F5ERICLIS, —WERAMKE 2 1 6. Tmid RQUERAFTBRRLLER 4141,

HEEKE 1 6 6. Tmnld 262 TH D%,




A M T 1 BB L ARIOKE (FE )

mm
320
300
20 ( e L PR 31 7 )
260
240
220
200
180 7
1607 m
140 T 7
1L
BENE
12016 < 16 M 5
nn
100-T'5 50
8414 3 (7k4L) 40
60 T3 30
40 +2 x
L1
20T 1 . 10
B (BEEmE)
0 ! | 0 o H | ﬂ 0o o 0o 0+
9 11 13 15 17 19 21 23 1 3 5 7 9h

AR I ORB AL 4m 9 2em, (9B 1HO048F) T,
3. HEERG
RERK4 2F, RTR7KL 8 8F, MMATEAG6 0 ha, HRMEIH (FHE, thE, T
NEAE)

—39.



350
400, 300

KE

RREEAR A
(8 330~31H)

33



%%rﬁ%% : 19714158)% 30 A 210
g jsg”‘/ g B e

T —
/5/ 05

| 13 e
B e 0:/01 97;’%1
o o, /
"‘.‘"\,\? /
= 0/00\‘\
B 7\/3/04 b2
i /| o 1 f

g o SRR,

%%rﬁ%% : 19714158)% 31 EIZIHE?

z
Rz az/nz i
% og//.s/ “ 77%7

!
%mf/ : S




